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SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N HusZ
INHEAXEAAS A 277,091 250,671 26,420
JIEAIDHE ALY & F1 UHal K& 249,400 222,980 26,420
F1 Uia 22 & 08 144,630 126,780 17,850
F1 sl 2 121,630 113,780 7,850
201 et=gl 66,350 41,500 24,850
01 AtR2telH] 65,270 40,300 24,970
olger=gtl] 65,270 40,300 24,970
OF1 B2 JI8& MHE
2 & 47,000,000 = 14 47,000 18,000 29,000
OF1 Uzl &2 tHUJl M (20 aE2)
Z& 4,970,000& = 14| 4,970 9,000 4,030
02 3323l 1,080 1,200 A120
Ool22e3 ¢ WAl 1,080 1,200 2120
OF1 28 NSt I3 (20 4aE2)
dd 45,0008 » 128 = 204 1,080 1,200 A120
401 AIEHIZL 20U 53,000 70,000 A17,000
01 Al£Hl 53,000 70,000 217,000
O[AI&HI] 53,000 70,000 A17,000
OFt 4&X8E &X(20aEZ)
2 & 13,000,000& * 1A 13,000 30,000 217,000
F1 g 22 0IME i 23,000 13,000 10,000
201 LetE2El 23,000 13,000 10,000
03 A2 HI 23,000 13,000 10,000
OF1lial 23teAL 228 23
10,000,000& = 14| 10,000 0 10,000
F1 EH§| Nzl Jlgt @4 31,170 22,100 9,070
F1 Oial AESA 2 5,265 5,850 A585
201 LEH2HH| 1,305 1,450 A 145
01 AtS2t2iHl 900 1,000 A 100
Oolger=gtl] 900 1,000 A100
OXASAX ZEHSD Y EE(20AEY)
Z & 900,000& * 14! 900 1,000 A 100
02 3323l 405 450 N5
Ol3=223LHA] 405 450 N5
OX2ASAIX MHBEEZ (20 AEZ)
d&d 4,060& = 100¢! 405 450 N5
301 LetEas 3,960 4,400 A440
10 SAHAHIEA S 3,960 4,400 A440
OXSAR B AHl 2&(20M4E2)
ZE 44,5003 = 4091 = 23 3,560 4,000 A440
F1 CHal XI& 6,905 7,250 A 345
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SA-E . S(E) - MEAY - BES 01l &4 24 p[E-Ll SImE=ET
301 et a= 3,105 3,450 A345
10 ALAHIE &= 3,105 3,450 N 345
O8A - el EMNDE &
2) Z & 35,0003 3| 2,905 3,250 A 345
F1 s N3gs 29 19,000 9,000 10,000
201 LEH2 | 19,000 9,000 10,000
03 A2 HI 19,000 9,000 10,000
ORY NEdELE F)
1,000,000& = 58 = 23| 10,000 0 10,000
I AN ALY & 43t 47,400 47,540 A 140
JIHEANEAY =2 2EHEN 1,260 1,400 A 140
301 et as 1,260 1,400 A 140
10 SAHAHIEA S 1,260 1,400 A 140
OMZXT, 45X BH3 S 519 &4 A
(20 a&E2) ZF 7,0008 * 900! * 23] 1,260 1,400 A 140
A HE - =g 2 3,780 4,140 A 360
JIHEA HE - F=EHXA XNCES 3,780 4,140 A 360
201 EH2HH| 3,240 3,600 A 360
01 AtR22iHl 3,240 3,600 A 360
Olgs=gt

] 3,240 3,600 A 360
| X (=204aE2)
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Z & 60,0003 * 2400 A 1,440 1,800 A 360




